Informal subtraction

Class:

Date:

1) Work out

Mark

569 —410

664 —379

875 —241 —-113
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o) 7796 —417 -37

3) 603 take away 416

4) Use the number line to find the difference between 426 and 771.

S) 59 take away 38

6) Use the number line to find the difference between 42 and 75.

42

Copyright Mathster.com 2014. Licensed by Your School with permission to redistribute




Solutions for the assessment Informal subtraction
1) a)l b) 1
c)9 d) 55

e) 15 f) 12

g2) 13 h)96 —16 —24=56

)82 —28 —18=36 7)) 569 —410=159

k) 664 — 379 =285 D875 —241 —113=521

m) 38 n) 723

0) 7342 2)2
3) 187 4) 345

)21 6) 33
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